ER-IERRREE-RR

SHSFE6ASRRAE
EXEE RRT

HEFHR EE]
wEER |—X#EIEE FEHEILE
TRTMEEELHME B
X7 G2KkE) |ZER=EHEE (20
(EWKE) |TERSEHEE [138
TSRS ERESE
ok EE = =
fREANGEKRFHR |
=48 IZkDE%E
A EHRE 25m/s
ZAE 5 ER
XE BEDES 1265 E DFES10cm
KR E ) 6.0m
= 80 B4 2.5m
X FEmEagEE |14
TIERNEEHERE |18
TSRS ERERE
stk *Eﬁgiﬁﬂ _
fREANGEKRFHR |
IZkDE%E
58 i, E 5 EE 15m/s
AE 5 EER
XE BEDFES 1265 RIS D FES5cm
N KR e 2.5m
EER = e 5o
& FEFICFYEENTEINDSE
RME
o om - BEE 100m
p-—+ 1R B 500m
R /N2 E30% TERIEE60%
BEn
B8 ZH(RIEKR) :-2°CUT
B BHE-HEY RERBICUT
E=K-ESE

ERERE SR A RIS

TBRE

[100mm

NEREREEYN RERSIER OHEASHhEICLAREEERLTIET.



